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ENERGY #1 - PE and KE

GPEg = mgh

KE = .5mv2  

g = 9.81 m/s2 
Show all work (units, formula, algebra, solve) and round to the 2nd spot after the decimal.
1. What is the GPEg of 5.5 kg raised to a height of 14 m? 

2. Determine the KE of a 1040 kg roller coaster car that is moving with a speed of 22.0 m/s.


3.  Missy Diwater, the former platform diver for the Ringling Brother’s Circus had a KE of 15,000 J just before hitting the bucket of water.  If Missy’s mass is 57 kg, then what was her speed?


4. What is the mass of a car with 290,000 J of KE moving at 52 km/hr?


5.
What is the mass of a bowling ball with 140 J of GPEg sitting on a shelf 2.2 m above the floor?


6.
What is the total potential energy of an 86 g arrow in a bow that is stretched 58 cm by an average force of 94 N if the arrow is 1.6 m off the ground?


